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If an FDMA network has eight stations, the medium bandwidth has _______ bands.
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In the _______ random-access method there is no collision.
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	CSMA/CA
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In the 1-persistent approach, when a station finds an idle line, it _______.
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	Sends immediately
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	Waits 0.1 s before sending
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	Waits 1 s before sending
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_______ requires one primary station and one or more secondary stations.
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	Token ring
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	Reservation
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	Polling
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In the p-persistent approach, when a station finds an idle line, it _______.
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	Sends immediately
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	Waits 1 s before sending
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	Sends with probability 1 - p

	[image: image108.png]



	[image: image109.png]



	[image: image110.wmf]D)[image: image111.png]
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A network using the CSMA random-access method with p equal to 0.25 will send _______ percent of the time after accessing an idle line.
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The 1-persistent approach can be considered a special case of the p-persistent approach with p equal to _______.
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_______ is a random-access protocol.
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	FDMA
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In the reservation access method, if there are 10 stations on a network, then there are _______ reservation minislots in the reservation frame.
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A Walsh table for 16 stations has a chip sequence of _______ chips.
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_______ is a controlled-access protocol.
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	FDMA
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_______ is (are) a channelization protocol.
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_______ is the access protocol used by traditional Ethernet.
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	Token ring
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	CSMA
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	CSMA/CD
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The most primitive random access method is _______.
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	ALOHA
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	CSMA
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When a collision is detected in a network using CSMA/CD, _______.
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	The frame is immediately resent
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	The backoff value is decremented by 1
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	A jam signal is sent by the station
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	The backoff value is set to 0[image: image332.wmf]
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In the _______ random-access method, stations do not sense the medium.
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	CSMA/CA
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	CSMA/CD
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When a primary device asks a secondary device if it has data to send, this is called _______.
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	Selecting
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If a TDMA network has eight stations, the medium bandwidth has _______ bands.
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If a CDMA network has eight stations, the medium bandwidth has _______ bands.
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20- What are the differences between 1-Persistent, Non-Persistent, and P-Persistent CSMA.

21-Host A and B are connected with a Ethernet LAN. CSMA/CD is used in their communication. Suppose the end to end distance between A and B is 500 meters. The Channel speed is 10Mbps and propagation speed is 200m/μsec. Suppose at time 0, A has a 512 bits packet to send to B. and after 2 μsec, B also has a 521b data packet send to A. Will transmission of A and B collide? Describe your reasons. If collision happens, when will A detect it?
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